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English Version
Unit - |
1. Answer any two questions of the following: [2x5]

a) Translate the following sentences into standard form of a categorical propositions and make
them a form of conversion.

i)  Only students can participate in the class.

i) Ifitis red then it is not white.

iili) There are white elephants.

iv) Businessmen are seldom helpful.

v) Some philosophers are poet.
b) What is meant by existential import of categorical proposition?
¢) Why in modern logic only relation of contradiction is accepted? Explain.
d) Write short notes on: Contrary Term and Contradictory Term.

2. Answer any one question of the following: [1x15]
a) What is dilemma? Discuss the classification of dilemma. (3+12)

b) Test the validity by the means of Venn-Diagram —
i) FESAPO
i) No enthymemes are complete, so this argument is incomplete.
iii) Rajibul is older than Rahul, Rahul is older than Arijit. Therefore Rajibul is older than Arijit.

Unit- 11

3. Answer any two questions of the following: [2%5]
a) What is meant by refutation by Logical analogy? Illustrate with example.
b) What is the distinction between ‘sufficient condition’ and ‘necessary sufficient condition’?
c) Explain the a priori theory of probability calculation.

d) When does the application of the method of difference become necessary, after the application of
the method agreement? lllustrate with example.

4. Answer any one question of the following: [1x15]

a) What is meant by a good analogical argument? Explain in this context the criteria for evaluating
analogical argument.

b) Explain the seven stages of the formulation of scientific hypothesis.
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